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                                  Economics 
                                     Demand
1. Fill in the gaps: 
DEMAND 
The sum of all the intended purchases in the economy at a given time is called                demand. 
The demand of one type of product by all the consumers is called             demand.  
The demand of one consumer is called              demand.      
Demand is determined by the                    and the curve of demand is                         .

2. [image: ]Choose the graph depicting a demand curve: 
3. The rise of household income causes:    
a) A shift downwards on the curve.
b) A shift upwards on the curve.
c) A shift of the whole curve to the right. 
d) A shift of the whole curve to the left.

4. Which of the following factors will not cause a shift in the demand curve for shampoo?   
a) the price of conditioners
b) the price of water 
c) the decision of the consumer to wash their hair less
d) the price of shampoo

5. The shift of the curve to the left inevitably means that    
a) the income of consumers has decreased
b) the equilibrium price has decreased 
c) the price of the supplementary goods has dropped 
d) people want to buy more regardless of the price of the goods

6. [image: ]The graphs are showing the supply and demand of exercise books. Which of them is showing the fact that the school year has begun?    
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? Sthrn vietkych zamyslanych nékupov v ekonomike sa nazyva dopyt.

'{’ Dopyt vietkych spotrebitelov po jednom druhu tovaru sa nazyva dopyt.
- Dopyt jedného kupujiceho sa nazyva dopyt.

; Dopyt sa riadi zdkonom . preto ma krivka dopytu

2. Vyber graf, ktory zndzorfuje krivku dopytu:

O Ny P

Zvy3enie prijmov domacnosti spdsobi:

9

10

1

a) Posun po krivke dopytu smerom dolu

b) Posun po krivke dopytu smerom hore

- c) Posun celei krivky dopvtu smerom doprava
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- a) Cena kondicionérov
2 b) Cenavody
B c) Rozhodnutie spotrebitela menej asto si umyvat vlasy
- d) Cenasampénu
2
- 5. Posun krivky dopytu dolava nutne znamen3, ze:
o a) Prijmy spotrebitelov klesli
Z b) Rovnovézina cena klesla
S c) Cena suplementarneho tovaru klesla
Z d) Ludia chcd nakupovat viac pri kazdej cene tovaru
- 6. Grafy reprezentuji dopyt a ponuku na trhu $kolskych zoitov. Na ktorom z grafov je
] znazornena skutoénost, ze zacal $kolsky rok?
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